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Domain:  ݂(ݔ) = ln ݔ      ⇒ ௙ܦ = ( 0 , ∞) , ௙ܴ = ℛ 

Limit: If    ܽ > 0     ,   lim௫→௔(ln (ݔ = ln ܽ lim௫→ଷ(ln (ݔ = ln 3 If    ܽ < 0     ,   lim௫→௔(ln (ݔ . ܦ      ܰ . lim௫→ି଺(ln ܧ (ݔ . ܦ      ܰ . lim௫→଴శ(ln ܧ (ݔ = −∞ lim௫→଴ష(ln (ݔ ܦ . ܰ . lim௫→଴(ln ܧ (ݔ ܦ    . ܰ .  ܧ

 lim௫→ஶ(ln (ݔ = ∞ lim௫→ିஶ(ln (ݔ . ܦ ܰ .  ܧ

Differential : ݀݀ݔ log௔(ݔ) = 1ln ܽ ∙  ݔ1
ݔ݀݀ logଽ(ݔ) = 1ln 9 ∙ ݔ݀݀ ݔ1 ln ݔ =  ݔ1
ݔ݀݀ ln(ݔ − 5) = ݔ1 − 5 

 

Notes 1 = log௔ ܽ 2 = log௔ ܽଶ 3 = log௔ ܽଷ ݊ = log௔ ܽ௡ 1 = log଺ 6 
 1 = logହ 5 
 1 = ln ݁ 
. 
. 
. 
. 1 = log௡ ݊ 

2 = logସ 16 
 2 = log଻ 49 
 2 = ln ݁ଶ 
. 
. 
. 
. 2 = log௡ ݊ଶ 

3 = logଶ 8 
 3 = logଷ 27 
 3 = ln ݁ଷ 
. 
. 
. 
. 3 = log௡ ݊ଷ 

3 = logଶ 2ଷ  = logଶ 8 
 3 = logହ 5ଷ = logହ 125 
 4 = logଶ 2ସ  =   logଶ 16 
 4 = logଷ 3ସ = logଷ 234 

log௔ ݔ = 1ln ܽ ln  ݔ

 log௫ ݕ log௬ ݔ = 1 
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